Total number of printed pages—48
3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6 '
2022

CHEMISTRY
(Sklll Enhancement Course)
Answer the Questions from any one Optxon, '

| OPTION-A (Analytical Clinical Btochemtstry ) B
Paper : CHE- SE- 4014 '

OPTION-B (Green Methods in Chemzstry )
" Paper : CHE-SE-4024

OPTION-C (Pharmaceutical Chemistry)
Paper : CHE-SE-4034

OPTION-D
( Chemtstry of Cosmetics and Perfumes )

Paper : CHE- SE-4044

OPTION-E (Pesticide Chemistry )
Paper : CHE- SE-4054

‘OPTION-F ( Fuel Chemistry )
Paper - CHE-SE-4064
Full Marks : 50
Time : Two’ hours
The figures in the margin indicate
full marks Jor the questions.

Answer either in English or in Assamese.
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OPTION-A | 2o 5799 A _ ¥9e9 @i Wfses

A 22
(Analytical Clinical Biochemistry ) T :
Paper : CHE- SE-4014" i (d) Pentoses present in DNA and RNA are
| and respectively.
1. Answer any four of the following | DNA i RNA © 93 #l%% =1 754 @ew
‘ (Choose the correct ansyer / Fill in the SIS !
blanks) : : 1x4=4]

ISEER Sy mﬁﬁrﬁﬁa%@aﬁm ( e Teq Al (e) Which one of the following is a non-
%%M?ﬂ / Qe 5513 GREIEEI I ‘ digestible polysaccharide ?
S e =

o ‘ i ) P
. | TE (FARY * G FAR (FRE 25 2
(@ In eukaryotes fat : i dowil : / 5
OCcurs inside i -d brea - (i) Cellulose W;
IR R @i, g spjet m—— (i) Starch &iIou)
(i) mitOChondrial ey (iit) Inuline Zfe ;)ler
RGN W v Fooqs - Ll
(@)  cytosol () Arachidonic acid has 20 Zarbon atoms
(PRI fooqs | with . double bonds.
L IOEIG] : iy — e, ~ ¢ w m
)], el wiffw e afzwe zomlw 2=
el 2 3
(PRI fows | _ ERlERIRSE
(iv) €ndoplasmje reticulum (g) Numerical changes in chromosomes are
T S T [ called e L
skt LS 3 (T 33
OIS Y - Slmplest amino ac S g
———— "IORET sy G @ | (h) Lactose is composed O
(c)

t SN i
e VIDES G f a
Tequired ¢, dmino acids

o el TR (RS A
SYnthesize 5 protein. T
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Answér any th ‘

Y three of the followi ;
5 owing :2xJ
06 ]E}m F%@lf e ‘\.—: a\‘f—%'a‘f ; b=

(@ |
) (\ggi&laatli“s Caflled denaturation al’
Ve s n of proteins ? ;
2o o pin |
DY N Srewe w0
(b)  Define co-en

TR

zZzymes and co-factors.

(¢ Writ i
rite two biological roles of DNA-

DN r P
) HOVV dOeS pH

3 affect
activity p i on enzyme
¥? What is called optimum P

range ? |
%Qmm |
T e IR TS pH 7 e 2ot Y

(e)

E-%ﬁ 3 '
! = e %? \J . |
) What i S feat |

eiricd rancidity of Lipids?|

T B 1

€nzy 0 3 {
“ymes, N the clagsificatio?

T
T i

S ot 5y ol 1

r_ 3 Sen-4/0Bes) o g5

T ‘ \
BRGNS R RTINS

(b)
(c)

()

(e)

Answer any three of the following :

What is biocatalysis ? How is it
important in-green chemistry ?

(61 SEo [ 2 GIeE RS 29 GhR 52

Write a note on characterization of
polysaccharides.
@ NEAE FTTIER G2 bl (GIEl 7RI |

What are the structurai levels of protéin
organisation ? Explain.

2P 5 Fea0 SV 2RI (201 & 52 g
54l |

What are the chemical cmﬁponents of
nucleic acids ? Explain.

ToeT Ufzus I GRS @Wiﬁi & 2 gl
=4 |

Explain the mechanism of lock and
key theory of enzyme action.

F47 |

10%x3=30

woiq farge [of) o ©Gd Al

(a) Write a note on Kreb’s cycle.

213041516 100 1
1&f9f ‘D,ﬁ 2.4
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(b)

- hormone,

. CIPBiRE Ty ﬁs,?" C1°Bi3e T el o

ﬁme?rcvr’%ﬁ@m‘c@awm \9”"1? -
B (R | ;

Q)

- 8enetic code ? -

‘

Characterized ?

) a.afhma -

me%%v

s lipog ) : so?
’blOlOgical ] POsomes ; Write

o %9 % & i\?‘.’iaa ﬁft
TN ey »qﬁm@'

3 [Sem_%[CBCSI CHE g l/2/3/4/5/6/G

What are peptide hormones ? What &

the main types of peptide hormones|

.‘,i'|'
Give the name of tfwo peptid
hormones. Write

about t
biochemist

i Tk T

j
RH & fes 75! (1512w TR A

WhatA is DNA replication ? Explail’l--,jl,;;l
ONA “TRFoe: e gt ) y

How are protein

i

Iy of at least one pepti® ;
1+1+2+6=]

denaturatiop, »

in b ant by ‘genetic cod®
Explain i, What are the properti€s

&y RS i @T?.Fl? Wy <4l | @1

Unctions of liposomes.

6

(g)_

)

5 7
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- here in blood
many factors are there in
Hc?:oulir;tibi process ? Write a brief note
gn glood coagulation process in human.
T wewe § RERRY TRCE AW T2
T (7 e AfEFRIGR eoFe 5y (Ol
o ‘ . ts of
ar major components of
W}.lat 9a11:?o\:rhian x;]ve diffgrenﬁato:e t}11e
urme‘.-l u.rine from- patholog}cfa_é |
nl())rglrfnal urine in case of Hepatitis-I |
abn n 5 |
1S i ion in liver 3 ,
virus 1nfect10p - |
T e SomeTE R ﬁs «@m\v
W‘l (=oii5iEPr-B iR W& v@qﬁr@,
variﬁ@ o eI/ (@RS T AR a
Oiie : v |

ey R A2
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OPTION-B

(Green Methods in Chemistry )

Answer any Sfour questions -
RICAITT 51351 orera T S0

(1)

(W)

(i)

3 [RP.".‘.-J."'CBCS} CHE 3F 123

A

Paper : CHE- SE-4024

It is better tq
treat or- cle
formeq.

~/
Z

waste tha‘nfo
AN up waste after it 1S
(Fill in the blank

ens 9F'T|Ql/ ‘ff‘]ﬂ RG] T:’F.;(@ i =l ‘7{]%2‘_@

LT S5 el ey 2
ARG |

The Pollution p

Was the firgt Initiation ip the U.S.

IEATE oty TR e &l
(e -
The full form of CFC isg 3

(Fill in the blank!

| (=7 F17 79 74

2 eXistg g i - Lo
31°C ang ® & SUpercritical fluid 2

i SUCIO

(FIU in .the blaﬂk}.

*[5/6/G 8

1x4=4!

(1557 1% 79 T,
T'evention Act of -

(Fill in the blaﬂk)‘

(T2 folie |
(?ﬁﬂkwi“qﬁ #4l)

(v)

(v

(vii)

synt
(viii)) For green SY

3 (Sem- 4/CBCS) CHE SE 1/2/3/4/5/6/

3 1" C S Es R a tiEC SR E @
oEER G 4TS AQ T I(ET T2 79
=)

‘Define atom economy.

G5’ T AR kG Bl | ,
Name the drug taken by pregnant
women that may cause acute birth
defect.

e WD & GTY G T N0 AT
[SEIIS] ﬁ'?"\s sfffere 2d 7S ?

Cataljtic reagents are superior to

i i {0
1 metric reagen
jese (Select True or False)

e R e [Keee @

@fﬁ famarie | (e (7 &% 93 )

hesis of adipic acid

D-galactose can be used as the starting
—O
=]

terial (Select True or False)
material.

Rofore @fzwd (AICE FKCERTS D-CFTIS e
«] 3
s e el TR 9 A

(e (7 &% @93 1)
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2.

Answer ariy three :

ﬁm@ﬁm%mw

(b "w
. ) 4_@;:: are the goals of green Chemlsn‘y
I]GH [GRIN

(o)

(d)

Write the che;

Write tupo
addltl()n re 100%
atom eConomy aCtlons with

W;:«: Wﬁm 11 ﬁﬁt"“’

Mical reactions 1nvolV‘5‘i

in ree
green Synthesig of be nzoic aci 4 frof“

tO].uene

2 tﬁtﬁﬂ)p%nmnto

- RS @ 1% for

What 1
TR S th tl'uctul.e Of TBTO 5
TO 3 51.37 ﬁ?

.
(Sem-4/cBes) cy g 1/2/3/475/6/(} 10

Write short notes on (any two) :

5%2=10

Fiewicen gorq R 53 Rl forai s

(1)

(it)

(iii)

(iv)

v

(vi)

‘Bhopal Disaster

Vietnam War (1970)
RoraBams & (5540)
Antifou-lants

GFoF T

Green éynthcsis of .ib‘up'rofe.n
ST (ToT R
Greén solvents for chemical l'eaCthI‘lS '

EenInes ﬁﬁ?ma(ﬁﬁr'aﬁﬁv cive @

Pressure treated wood

- casm—mm

Answer any three questions given below

0><3 30

(a)

3 18em-4/cBS) CHE S8 1j2/3/4/5/6/G 11

Write the use of surfactant CO2 in the
field of . dry cleaning.

T ﬂﬁ@FFF'?ﬁPﬁ;Tﬁf(RDQQEWmﬁ$qﬁth
o=
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(bl Explain the use of antifoulant in th “(f) Write  the advantages  and

field of water transportation. disadyantagés of} perchloroethylene

T RS o f o ~ : (PERC) used as a solvent for dry
. TRTO ‘qﬁ?m RIS IERIE F@ﬁ cleaning. Draw .the structure of

v . : ; polystyrene CO,— copolymer. 8+2=10

% ARG (FIS IR0 T NG TR
. (PERC) FfR4l SII% SFIRAIEIR o141 | sife@izRa

(¢ Useq i . |
() , aSS_e of Chronuum and arsenic is resU'iCted!é
Preservatjye for wood industry

plscuss' about theijr alternatives. W‘ﬁﬁ’w TR TGN 10 i”_ :
AR TS g N 9 -‘ . |
3 Firg o m ARIFH C‘Eﬂl/ ' (g) How can synthetic azo plgmenFS
TR R 93RIRT LISERES ﬁﬁ'] replace toxic organic and inorganic

E l.%ﬁm | pigments ? -

@ What gre 1, AT @7 TG R R Tow

gnins ? 1o f o
hydroger, Perox?de Ef'Xplam the uset :é v 2GR TR AR 2 '
0CESS of Or catalyzing v » o
PfOCess of d‘eﬁgnifying, Y 2+8=10 (h) Write the principles of green chemistry
" ﬁ’#ﬁq @R ﬁsp ‘ i with suitable examples. ,
I T C,,,W' 1%% M= e e 7 | GivE T TAPMERR B IAeTeT Twed
(e) | R R Bl ) ' |
Fite : y
p“nCiblZ i?ast fwo of the twel?
gre S
Tecyclable Carezt Chemistry in c2 |
G P - - B :
) . m 3 M’ﬁ Wﬁg %? P = ——
FCIE 74
TR o o T:’ R [EIRE
' ARSI
) 3 (Sem~4/CBCSJ CHE 88 1 onta
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1.

N

Answer qn
- 'fO_HOWing: ,

(o)

(b)

@

@

OPTION-C

( Ithrmaceutical Chemistry) |
Paper : CHE- SE-4034

1x44

ow many numbers of N atoms &%

_Present in vitamin By? |

‘%Bzﬁﬁﬂﬂw

| "2 IR s N ol ACF?
What are NSAIDg,

mﬁ‘s%@l? . A B[R oio SR

| Write - ' o deficiency of vitamin Bjj..
i the, aMe of two enzvm "vol"e‘(l 7

D the fermen g0 SHZymes inv0. ;

. aciq. 10n of glucose-to ¢

y four questions from th

LT o[l oiEe “fRT aa R afFme

(FRCCTHA ) TR @R 757 ST I

(g What is the heterécyclic ring ‘system
present in vitamin C? -
R ¢ o RERDREe KO & =e

)

| (h) What are barbiturates ?

RROEEE e & @z

2.  Answer thé follo{ving any three questions :
| . . 2x3%6
oo e, ok A forbrT Teq = ¢
(a) How many numbers of stereoisomers
are possible for chloramp}}emcol?. .
Which isomer is responsible fo_r R
antibiotic behaviour ? Draw its
structure. | : ' o
S (PR (BRI T 2
oS! SiEe R PRI IR A9 W

‘(b) What is the heterocyclic ring syétem
| present in vitamin Bio ? Write the name
of a disease that occurs due to the

3 (Sem-4/CBCS) CHE SE 12/3/4/3/6/C 15 : Contd. -
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| | - 17 (PR (ERAI AT e
o i Rl & 2 A & AW (P o

~ RofA By, © w o cwaad afve R ATE? €l | o

- TR B2 3 wrerm et R e 29 AT o o A

. .| |
() Name the prodrug of dopamine ? Whj

o Draw the
; Ifa drugs? .
- . oterel hat are su . hder what
cannot dopamine be administer - '\s)\iructure,of sulfaC_et?m.ldei'gfaJirrlw used?
‘dlrectly? » , )\%ﬂ 9'.-@'91 { | medlcal Colnditlon J.t 1S D 5 :
. AR Wi 83y (&gl & = 'S‘,i; |

i t ' f t l s pecCl
Write the na me 0 .tw‘ 0 b'ac‘er al species
against Wthh_ 1t 1S aCtIVC‘

t) >

o everrer orm o e

(d) Define agonist and an - = 9Wﬂﬁlw
- Give examples. | BT gl w'%{;ﬂ SAEICe G201 IR
, mﬁ%maﬁﬂﬁ%@wmﬁs{@? oz SEESIRCRTES ol @

RaE A e AR REeE
‘(e) What are

. 1+1+1+2=5
tagonist drug®

I 7o AR :
meant by hypnotics ar BleTdfbBrIe : ibuprofen. .How
sedatives ? - : -ucture of 1
- RATS W Guif i (c)  Write the stru
' Ak SIS s & J5 2 _

- . . re
s of stereoisomers a

fen and which isomer
(9 What are 5

many number
algesics ? Write the nar’|

v L. P O . n two
ble for ibuproiett. e ? Mention t
and st . g. POS}S: rapeutically actlf‘,’n over aspirin.
 ~Tucture of g analgesic dl"{yﬂ 4 1sdt etage$ of jbuprofen Ve B30 o5
TR =2 o e advan o T
_ Bk . AT
.mwm‘ﬂ?@?@%ﬂﬂ E o QWWW{W fﬁm'mm .
3. Answer Qny - . ' tbt _ C‘@WW tﬂsf\m
following: © ™9 questions from i RResTTG! o Fam A
3 . ~ " Rtz 759 TER . =g T 701 71 : ic
@ What i SPTOSY > Which pacter] - structure Of LGSR by
. SPecies is TeSponsible for leprosy ? g ~(d) Draw the s it being SymtiE™ 1+4=5 -
. rame- gp : of | , acid. How 15 - cess? -
ANti-leprogy 4. Structure s€ tation Pro
_ SYnthesis f01}" i Mg and prolf_)fi+34 v - fermen -
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- T

-2 Bifse \ﬂ%@ 5‘@7{ PSS 4 | G
-, [ =y S '

e) What is, lmeant

Name two diet

Write the n

~ -~ Common]
" L-ascorbic 4

‘Answer
fOllOWing

i

I

It
(1
|

ary sources of vitamin G
ame of two bacterial straing
y used for Synthesizinéf
cid through fermentatio

L 2+1+2%9
e Rsifm ¢ @ 7

9 \g )T\Cx"mq -

an - .
: Y three unstiOnS from ' the
10x3=30

What,is e n: : ]
Present in ‘nltrogenous bas®
€ antiviral druf

a‘o Which virys it ¢

by vitamin C leaching

T

- af5eI3Ea g9 URisE fose It

@)

- condition

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 19

H@C@;ﬂi WW%’NTI (FRRY oiRAF
R 3 T ? UReFToT] A8 -oiR

What is a cardiovascular agent?

‘Write briefly about the medical -

n in which glyceryl
trinitrate is used. Propose a
method for the synthesis of
glyceryl trinitrate. 1+2+2=5
TGO SRS (qUeD) A [ee.
fAmaize BiERED I (@ (e
Rfefor fam Iz &t férwiﬁ '
GiEniees aws R @Ot

How does pafacetémol .decrease
the body temperature ? 2

CoRITRDIIE e AR RS R G EA

In the industrial preparation of -
ethanol by fermentation —’

e siafod Al EQICGo IO
ergfeTTe — S

(A) What is the starting material
and what percentage of sugar
" does it contain? 2
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3 18em-4 i

B

Name two microorganism
that can carry out - théf

(O

D)

BCS) CHE sE 1213

—

=

Ev E .
(E) What i the optimum

-

|

r

Wh : i

necye .IS addltlon of Oxygeﬂl-

process ¥ _although  th?

SO S 1s anaerobic ? 1J|
*ﬁ}l\ﬁn‘(ﬁ

~ fermentation. b
What

]
Iﬁ
i
i
I

SUbstanCes added '3
%%c-»nm Q@] = 7 7
Xgat i»S the optimum pHE}»
8¢ for the process ? lJ'
.

= 9 ,miwiﬁmum pH m

temperat
- ure fo : i

| e o e

>

o

-are  the nutrleﬂﬁl

BRIRE S (R L

(c)

@)
(@)

@ )

3 [Sem-4/CBCS] CHE SE 1/2/3/4/3/6/C 21

- drug Diazepam.

ﬁi)- Write the name of four food

sources of vitamin Bo. What is the
aliphatic side chain present in
vitamin By ? 2+1=3

IR Bod BIRD! W B AW F |

REOIffm By (o 391 GfeTCEbE BIRG (B2
533 , . '
What are benzodiazepines ? What

is the trade name of the drug -
Diazepam ? In what medical

~ condition this drug is being used ?.

Propose a synthetic pathway for
1+1+2+4=8 -
aEeRaelE  IFE BogEe o
wRafAR s A e & afewe
seEe @3 ghiky IS T |2
wigaRinR @B Ao ES
What are the ‘éssentié}l requirements -
for a compound to be an antibiotic ?
o - . -9

@51 (el @I W IR

erareEorE & &2 -

What is. meant by retrosynthesis? -
How will it help to design a -
synthetic route for a particular
compound ? Explain by considering .
any drug molecule. 1+4=5

_ Coritd,. "




(1)

L (e) ﬁ)

o @

. semis start;
1Synthetie ting point of

|

: .Of barbiturates
T 5

-1

Refeatin = .
vfamq?“ijﬁm R g@e aor @
Sy m“"- © % o e = 2
TS G pragy 2w

Write briefly about 11
write briefly aboyt the development
TR R e e

Provide two ex

o T @b T
’WQ? . BES e = QTR

v es ' rin
C. .‘ ) cture of CephalospO i
€ th (0] heterocyclfc rillbs

tha . S { ;

tis ¢ T€ of the molecule
Ce
: phalosporins. o

- production of penici

Cture. Provide the || i)

ot 1+1+1=3 |
NI ror | = . o

1 5
o RO
g o T R et |

3 {Sem-4/CBCS) CHE SE 1/2/3/4/3/6/G 23~

(iii) What.are am’ivnoglycoside anti- -

biotics ? . Give - one example.
Mention two adverse effects of this
category of antibiotics. L 1+1+2=4

SR AT 51EE RS ST g ?
g e fir | @R GFERe
the Commefcial
llin in a fed-batch
reactor by fermentation. - '
R (iR Ao oge T
() Which are the fwo main ‘species -
- used for- fermentation? 2

foge 2fEFAICN® (P o1 s Reats ‘
Which between those two is used
mainly and why? )
o3 AMLDRE (R @RE I

o U2 :
(iii) What is the source of carbon? 1-
oS P TeA. [ 2

(iv) What is the source of nitrogen?
-1

Let us consider

SE ARG R B 52

Contd.




| (v). What py range should bé"

~ Maintained ?

ve th
. eu;/ S_tI'UCtures, , 9
MRS oy g PTG
} A o ng- %Q”l
) Which chrq

Mmatog; . ‘
1S used tq mmfi(igr aphic technique

of peniciljjp, ? or the pr oduction

(@) (i)'

. (ll) Wl‘ite' t

(iii) Starting from D-mannitol as fhé

H @)

(ii)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/3/6/6 25

of using sulphonami

easily' available source for the
construction of the sugar '
niucleus, describe how
azidothymidine can be o
| 6
- RiRDeT eI FeTe) T fRpieat

: synthesizcd. -,

g, AL B .
"What are sulphonamides’?

Mention' fwo Uses of it. Describe a
method of _synthqsi,s of it
considering aniline as starting
material. Give ‘one adverse. effect
des. - -~
1+2+4+1=8

| g AIRe R [ W TR VRIERN

e 39| GRS 3 ]l QT AINZE
A oS T W2 FIF AGNIT
T R n Rz R T

Whéit is co-trimoxazole ? 2

Co-SiErHEE e T e

-
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R

.Wﬁmﬁﬂam % %mm

OPTION-D .

(Chemistry of Cosmetzcs and Perfumes)

Paper : CHE-SE -4044
Answer any four questions from below :
1x4=4

b Write the basic
faCe pOWder
- W T Ty T'?F?

() Why is preser
Shamp00 )

Purpose of using

(iii)

() Name the essent;

v .

rnom)terpeno1 d
(*?Tﬁaa Ry T, |

(vi} Why is 2- phenyl ethyl alcohol used 'in |
perfumery.

- 2-fReeTiRe 2RI 4T R vg(efﬁmmr—w

e e

(vii) Name the vitaﬁ'iin which is felated with

- good ha1r growth

an Seed T4 |

ym which
i) Mention the plant part from which
o asmme oil is extracted. N |
JC‘ 5fi (e TR @ SR W W
. .

TEd 9|

ns from below :

2.  Answer any.thrée que‘stxo pelow

() , '
11 rl 1

e o CG“?FTW W@‘?ﬂ'ﬁfﬁdwl
afid ©
one natural source of geraniol
W NTn;zd mention its one use.
oi

coraifEe (9T 0] ﬁ@%@eﬂa—mm@w
ERICASISEARE «-‘75]’ Tnizad |
Contd.
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(v

©)

)

AnsWer an
- followi'ng .

)

. Winter season ang

Mention two main types of face powder.

qRY 2 4 W SNewRe S <Al |

Write two natural sources of

2-phenyl ethyl alcohol. . ‘ .f

2R B e ghy et O
.%ﬂmﬂ - :

Write two prim

ary fngredients of
lipstick. ,

P 1 e o

5x2=10

- €am and vanishing
cream. Why s ¢

47516/6 28

y .two. qﬁestions from the |

old cream used during |
hOW does it work o |
N . o 2+(1+2)=5 4

A LR S W

P ——

(.

SRS W & e ez 2 o
- qRER FE@? A (R B T TR
zaR o e S 0 "
Wri.te chemical composition of talcum
pdwdcr..'Why and how does it help
human being? C -

@aanxwﬁﬁmaawmﬁ%sﬂgﬁ?ﬁhﬁriaﬁga

ﬁﬂ‘ﬁﬁiGﬁﬂ?ﬁﬂ@m?ﬂaimﬁ“aw“l

(@

3 (Sem-4/CBCSi CHE SE 1/2/3/

How does lipstick wo'r_k on human
skin ? Mention four genu.ine .reasons,
how long-‘term use 'of., l,1p‘st_1cl<1+r;1—a35;
harm human beings. =

Sy TS BT (P fal A WIS

m@ﬁﬁmﬁ@m%@%w«%ﬁ%ma
o RS 510 PR T T
What is muscone ? Mentidn its natural
so'urce. Write its physipal prop¢rty. ng ‘
do human beings collect it from natural
, it ? ,
sogrce and use 1 | o tiass
qﬁﬁsé‘iﬂiﬁ?@ﬁ@ﬁﬂ@@ﬁ@l@ﬁ -
qE A ¢ 7 A =
e o il | AR LT ARFIOE T A1
ém#mscm@qazaewaaﬁmﬁ?W3? .

' C m.;d.
1‘;’5/"_6/6 29 o)




Which State of India has highest
sandalwood 0il? Mention four

important factors on which good
composition of sandalwood oil depends.

1+4=5

. Gﬁﬁikﬂﬁﬁiaw'@W$sﬁwﬁ$ﬁﬁ‘Gﬁﬂ'ﬁﬁiﬂ,

. o1r <ies wig tm 40|

Ans

following :

Wer any. three questions from the

10x3=30

(a)

3 {Sem-4/CBCS) CHE % 1234

() - Define essenti

: Hal oil. Mention the - -

the special sg]
o olvent which ix
during extraction. - 1° used

(i) Mention how

1) Ci . ’
.(» ) Ivetone, and (g Eucalyptys oil.

L s oy o 227

) BRE, 9% () ooty gon

II66 30

(iit) Write two basic_ Ways~by ‘which .
. human beings use esseéntial oil.
TR SRR (91 IRRR IR 75 T
)9 @ |- :

© (b)) (i) Méntion three methods by' which
rose oil can be extracted. Which.
type of rose is mostly used for oil
extraction ? In what different ways - -
rose oil may be used ?. Mention one.
chemical compound generally used
alternative of rose oil. .
| | 3+1+2+1=7
(Il (TR SRR T AL oafs
TrEd F91 | (FNEE N7l 92 (8e
S12%e AR TS ? (AR (S & &
SREITE AERIR SR AR 2 (AT (o5 7=
2@z 4 ARG (TER AN SE.
<=l | . -

(i) What the is the purpose .of ‘usjng .
shaving cream ? Mention: two. °
alternative compounds of shaving -
‘cream. ' 1+2=3

' ofx o 3R R S [ R
@ i AR IR A gRY (TR
e e 940

131415/ : Contd.
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©

i)

(iii)

(d)‘. (i)

-method

Write four chefnic;a] compounds

W Cﬁﬂ@ﬂm@mqw|

- What is the best sources of

eugenol oil in nature ? What

Write the names of g good
thickeners used in a good
shampoo

spra
necessary ? How pray

in adopted for_its
;extractlon?' How men use it ?

V)

N

(ii) Write about the thcrapeutlc use

present in good/best face powder. “of- different essential oils.’ 5.
4 ﬁf"‘a' SRARER (SRS Bl (Fre
?B" R S SO E o mﬁﬁsf (2R AR R

What is nail enamel’P Wnte ﬁve
basic chemical compounds present
in nail enamel. 1+5=6
TR GHICE [ 2 7Y GAICTETS A & A0
IFRRS (TR A e -

C 1+1+2=4 (i) Mention fwo methods by which

4 Befer oo S Sﬂﬁﬁgﬁ% & | ana1y51s of essential oil is done.
WW‘RW%@%WWW o 1+1=2

2 AR W (AR IR I3 2 wmﬁﬂc—ﬂﬁmqwzw@mm:

(iij) Write the basic difference between .

hair removing cream and shaving

S 1+1=2 cream. o wﬁ”ﬁrﬂ@fﬁf{:
S @ Ty e e e e o
Wﬂamﬁm TS g RECH ~

Write in short about the following :

is’ hau— spray 5+5=10
;Zlf:zdc;:lflft P health of hair > write e fral Rewa 6vFe W ferar 8
spra L paaces between hair Cosmetxc safety
y and hair dye.  1+]143-5 (i e EorG
R ¢ IR 4 el
RFm R wofe mmm ol (i) purpose of using fragrance .
(SRR (TR (?E'ZI. Wfa RIS ' materials
RAD oty ey O ;ﬁﬁmwmmmﬁﬁ‘f
3 (Sem-4/CB . ontd.
v VORICHESE opsptege - 32 3 em-4/CBCS) CHE SE 12/3/4516/C 33 ¢
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|

(9} - Chemically what is a nail polish

remover ? Mention five basic chemical

components present in nail polish

- remover. Why do people use nail
polish ? ‘Write two side effects of nail

polish using. 1+5+2+2=10
PITSIE 34 i Romor e 71 #4iED

(h)

W'Wﬂﬂ"mﬁ?ﬂw [ ? 99 AAifei5
701 i e 3 e

;Kglat IS Suntan: lotion ? Place four
Oflg opinions regarding the use of

o suntgn’ compounds by human beings.

2f(2x4)=10

o1 1 ey

3 1Sem-+4/CBCS) CHE SE 1/2/3/4/5;6/(; 34

¢

. OPTION-E
! Pesticide Chémist'?)
Paper : CHE-SE-4054 -

" 1. Answer any four of the following questions :

: 1x4=4
Choose the correct one : .
o7 Gevh qIR CEed 5 o
() Which of the following is not an
organochlorine pesticide ?
ST (FINDT (e Rl SO w2
(A) Malathione G
(3 ppr ~ TRH '
(C) Aldrin " [T,
(D) Endosulphan QS AT
(i) The chefhical used in ‘National Malaria
. Eradication Programme’is :

KIRISERER -

) BHC fRex=b
(B) DDT RAAD
© 24D 2,4

(D) Pyrethroid ARRRATC

3 Sem-4/CBCS) CHE SE 1/2/3/4/3/6/6 35 Contd.



(m} Natural msectmlde obtamed from neem (v . The pesticide used in fourrdat;on of |
leaves is - bulldmgs for preventmg termite attack :
ﬁ“‘WWWﬁWWWﬁ&I , | s
€1 | | ; B = W%WWWW
(4) Azadrirachtin. N - S s T FoArioRe tare
S AORERES S  (A) ‘Gammaxene
(B} Nicotine = . . IR ~

- el | (B} DDT
'(C) Lawsone . ‘ o . RRTG
B - | - (C) Aldrin
(P) Ecdysone | : P ﬁ@
: q : (D). . Endrin
© (i) Ident1fy the véed' i " _ .
s f0110wmg Icide among the ‘, GG |
0TS ﬁﬂl@m TSR _ ' (vi) Ratenone is a/an
| R SRRy S ™ o v
o E . TN T 9RY
A) 2,4-D o : : : ' (A) insect hormone
2, 4-f% - N T EEICESLC |
B Parathion | B ) natural insecticide
| | , (8)
AL ’ AT FOAE
“ - hloran | (C) bioherbicide
P e e
D) Sporein ' : = .\?F.”l .
R RCET ’ . (D) weedicide
. ) . : ﬂq@_ L 3

4 em~41CB0S) CHE SE 1121314575 36 -
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2.  Give very shoft'answers of the following :

(pzz) Alachvor is an . S o (any three) = ' . 2x3=6 ° |
AR @Ry - o —a—ﬁmﬁaqawmﬂwW (ﬁmz'-vrﬁﬁi?/)"
@A) b. organophosphate pesticide (i) -What do you mean by herblc1des ? Give -

(TS Fho o | . one example. '
(B) anilide pesticide - ' o S R e o 1% @l afF Wﬁ ﬁtm-
: *ﬂﬁ%@?ﬁ%ﬂﬁa S : Co (i) Name two organoc_hlorme pestlcldes.
7R Tards Rl o (TR A Sea 1 -

(C) organochlorine peéticicie
TR o

(D) None of the above

(iii)- What are rodenticides ? Give an
example of commonly used rodent1c1de ‘

FESATT (A [ 2 ARSI 970 cﬂﬁa

e e —— —

e R T Wﬂfcﬂﬂﬁ@’a ch el
(Ulll) Carﬁbofuran Is USed as o (iv) Can A a_lgaemde be considered as a
: M . : peéticide ? Which algaecide is used to
: bI ming in ponds, lakes
(3) an agncultural Pesticide c::)n;rol algal blooming fn.p |
q W S , etc
) ome | ' aﬁﬁawzaﬁﬁmm—ﬁmﬂwaﬁwﬁw
(B) - a fruit I‘lpenlng agent . | RY IR 39} TS HLNTITS TR
TSR B R ' | g PR SO R T
(©)  a fooq Preservative - A (v Whatis the full form of DDT ? In which
Al BR fil'ﬂm' ' ~ class of pesticide it belongs to?
- D a o | OB oo ol 7 % o oapre
S mOlSturlzmg agent o o oS ? | :

Wﬁﬁ%ﬁ?@t Mm% iz

‘ Contd.
3 Bem=1CBCS) CHE S8 11237473/, 38 N
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(vi) - WhaAt is the mode of ‘action of
rodenticides ? Answer briefly.

" TEATAMRAIE Rorcs R 09 2 bten ope |

.EXPIain briefly any two of the following :
' ' " 5x2=10

.(b) Organophosphate ‘ pestici&es
(c) Methods of pesticide residye analysis

ﬁwmmﬁmwm% |

(e)  Agriculturg] pesticides

'3(Sem-4/CBCS)CHE SE 1/2/3[4/5/6/_6' 40 -

(@)

~ such pesticides.. Write the applications

(c;)

(@)

3 Sem-4/CBCS| CHE SE 1/2/3/4/5/6/G 41

RGN T = S
CHUTIRSIA S0 O ReAIR Tk Sy

Gt RNwei SIeEs- 51 ,
What are organ’ochlc')rine pesticides ?- ‘
Give chemical structure of any two -

of some commonly used organochlorine
pesticides. How can these pesticides -
affect human health ? : '

| @ﬁqm@vmmw

SRR I o197 1l | IETeIE RS
RN (o Rt FHAMRT ST ooic
%m:‘a%ﬁﬁwwwmmm
TREAE FR? .
What do you mean by pesticide

"residue ? Discuss.its impact on human

health. Describe various‘methods 0
pesticide residue analysis. = :
Rrsgar Ry ~rfomy Rew s’ fmn

W.hat is chloranil? In which category
of pesticide it belongs to? Write its

" molecular structure. Discuss about its

synthesis, uses.and harmful effects in -
detail.

I oo % (O oM S ey
qu@amﬁwnmmﬁ,wm
Rl rerms R ARt Sisa =)

Contd.



Explain in' detail the benefits and.

adverse effects of different kinds of -

~ pesticides. - ‘

. synthetic pesticides. Explain with

@

%W‘WWW%ﬁM |
- A R i wify il »

Differentiate between natural and

examples. Write about their advantages
and disadvantages in detail.

Sk RN R
AR W‘Mﬁ@ﬁﬁﬁ‘?ﬂlﬁm?ﬁwj |

SRR Ratn Rgeerm e |

Write short notes of the following
(any two) "

S Rt 519 R 5 (it fora ¢
() DDT e
() Malathion - yeag

. (i) Chloranil g3

(h)

. 38em-3/CBCS) CHE SE 1/9/3/4/3/6/0 4

(iv) Alachor G

.What,are -Carbam.ate' pesticides ? Give

- ¢Xamples. Why are they used for?

1Scuss g

c
7 We analyze carbamate pesticides ?

. R Bl | % P2
ﬁw{mﬁmwwm? BRR R
WWW’ | ifit v @2
W"m‘mmqaﬁaﬁﬁ?

—_ )

about their toxic effects; How

OPTION-F -

_(Fuel Chemistry)
Paper : CHE- SE_-—4064
1.. Answer any Jour of 'the folldwing (jucs,tions .
‘ E . 1x4=4
(@) What is the formula of producer gas?
fOHR (e IR Ao [2
.(b) What is flash and fire point of
lubricant? -~ -
() What do you mean by power alcohol ?
AR T L e [ a2
(d) Define octan'e'm.,lmbér.
o AR @ forar |
(e) Give two examples -of aqtiknocking'
agents. o
FoaRR Grered 7o) ©MIRd fadl |
Niji Deﬁne calorific value of a fuel.
TR (e R (oo I f
(g9 Define pitch. '
foibea e fordl |

3 (Sem-4/CBCS) CHE SE 1/2J34/5/6/G 43 | ook




. Answer ‘dny three of the following
. questions: R

saﬁsﬁw1ﬁk$mwi%ﬁﬁ $w§@@aﬁ%n3

(¢ ~ Write the . differenc

- vf(h) Give two ' examples of ga'se‘QuS fuel.”

CIRE T 75 S Fean

(@) What are renewable and non-
- energy resources
each.

- SRR o TR o BT
ﬁsvﬁm ﬂ%‘ﬁm@cff_ﬁm

renewable
? Give one example of

- (b) ‘How is coal tar formed ?

IO (AT 9N 77e

es ‘between thermal

ari'd. catalytic cracking ?

(d) Mention two routes for the manufacture
~of isoprene Petrochemicy]

R Coffererts g Y ergeaeia 7l
TS T

e} What is the differen
and additivesp
O e g oty o

3 (Sem-~4/CBCS) CHE SE I/2l3l4!5l

Ce between base oil

66 44

2x3=6

tﬂ%ﬁc@ﬁmwwxsmﬁ&ﬁacﬁﬁwaﬂwﬁﬁﬁﬁnbg

3 (Sem- 4/CBCSI CEE SE l/2/3/4/5v/6/G 45

' (ﬂ Define ultimate énaleis .ofi coal. . -

e s R oafor o B

3. Answer dny, iwb of the foHQWing. questions :

5><2=lO

’ = fuels ¢ i ? Why are: fossil
How are fuels classified ? Vhy

((«1} fuels regarded as the most ‘important

i ylieng |

~ source of eqef%y ﬁqday. : | geass

iﬁmﬁHC$G@¢caﬁﬁﬁmﬁr@mig?sﬁﬁﬁﬁﬁ

S 2 n wrasld = Beat Boieat oty

(b)) What is coal ? Discuss briefly about

. " es of coal.
the compositions gnd typ 0+3a5

mﬁﬁ?mﬂ%‘wﬁ@ oS
B I

(c) . Write short notes on the following :
c) .

2+3=5
55 Coret Tl ¢
(i Coal gas
T (R
(ii) Water gas
Gelg (R
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()

(e)

Classify petroleum according to the
types of hydrocarbon.

CABFRIR (ETiReieT <=1 |

What is hydrogenation Crécking ? What

- are the catalysts used for catalytic

(b) Describe the general properties of
lubricants in brief. How are lubricants

©

classified ? 7+3=10

RO ARG SRR RO T4 | FEEHEE
el @TReTE F9 2 SIED 34|

What is biomass? Briefly discuss

hydrogenation process? D iams different types of biomass. 4+6=10
AT @y g e AR 2 [ o IR S7T9 HIT
@’W%%WWW@? S 1 | ,
() Write S . _ (d) (1) Calculate presence of percentage
_ aromatic of.C, H, N and S from the following
petrochgmlcals. '

Answer any three of
questions :

TS Tl Ricpizay fofsy w'@*@ﬁmz

(@)

TR i FErITETS s eo{—q—@v;{tas%:n 1

- the following
10x3=30

Propylene oxide by
cess, 5+5=10

chlorohydrip pro
s‘m G‘)m‘ ‘F*F ~

©le =
Ny ¢ W et Awde

observations for a sample of coal: -
; :
2. 1.g oficoal M sE bl T
combustion tube. The increase in
weight of anh'ydrous CaCly 1s
0.53 g and increase in weight of
KOH tube is 5.73g.

C, H, N 9 S5 SoifZfeq srowa #f=ia
SR ARIEER [ AR e

2.1g T bl Tl W2 I Ze | A
CaCl,-3 3fd® ©3 25 0.53g ¥ KOH
9 Affe °9 A 5.73g]

(i) Write the positive aspects of

) i7e W ! > e .
‘i’f@mqiﬁi@a AR B 2 2T nuclear energy. )
| ARl o *fee I e =i
3 (Sem-4/CBCS 4 ;

-i = i ' -
P an




(¢} What is biodiesel ? How is biodiesel
- . produced? Discuss. Write the
-advantages of biodieselr - 3+3+4=10

TR 2 W @i owe w0 7
ST 31| R oreret Imres Reicam B |
() What is fractional distillation, 7 Discuss

briefly the Principle of fractional .
distillation. Explain the process of

fractional distillation. 2+3+5=10 "

Waﬁas%%ﬁ%ga%mﬁmm
”¢m¢¢mé¢$vmawvmﬁéamﬂnimwl
(g) How is viscosity of lubricant

measured.? Discuss the importance . .
of animal oil ang vegetable ojls.

: , S+5=10

TR oo Starey (T fiefy 11 =m0
PITS i Sfrrere o Rt wirczioa 2w

. (h) Mention the effect
,'temperat_:ure on carbonization of coal

tar. Write the Ne€gative impacts of
burning fossi] fuels. 5+5=10
SIETRO TZTS Bl oy S50 oo T

T TR e e e (A Yl
UORR Rt fayan

of pressure and

——————
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